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SST=SSW + SSB

SST (¥ AM) : BUEEEAEN IR TIgn S E
SSW (fBATFAH) : ZHEMERHNEFENER

SSB (HEREFAM) : ZHEFIEB BT ONERE



—. &HER:

## A=[70, 80, 90]

#8 B=1[60, 65, 75]

—. AR

1. #8159 =73.33

2. #8F5H SST =~ 583.33

3.#8 A 13 =280.00, #8 B F13 = 66.67

4. #AATFEHH SSW =316.67

5. #8850 SSB = 266.67

6. B#5g: SST = SSW + SSB — 583.33 =~ 316.67 + 266.67



90

85

80

D
o

70

65

60

ANOVA &R 7286 (BRI HE)

x HHADE
X HEBOE
--- AT
-=-=- $B¥H
— #FH

A

A B



ANOVA 2R (BI=E)




ANOVA #R9#E (BIFhR)




